


•

•

•

•



•

•

•

•

•

•







θ

θm

-θm

temps 



•

•

temps 



υ

temps 



υ

0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.10

t (s)

n=200 Hz       T=0.005 s =  5 ms

0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.10

t (s)

n=50 Hz       T=0.02 s = 20 ms
temps



•

•

•

•



𝑇 = 2𝜋
𝑚

𝑘
𝜈 =

1

2𝜋

𝑘

𝑚

𝑇 = 2𝜋
𝑙

𝑔
𝜈 =

1

2𝜋

𝑔

𝑙
→



•

•



•

•

•

•



•

•



•

•



•

•



•

•



•

•



𝐼 =
𝐴2
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manip : corde
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♭



cos 2𝜋 𝜐 𝑡 + cos 2𝜋 (𝜐 + 𝛿) 𝑡 = 2 cos 2𝜋 𝜈 +
𝛿

2
𝑡 cos 2𝜋

𝛿

2
𝑡

•





𝑓 𝑡 = ∞−׬
+∞

𝑑𝜐 cos 2𝜋 𝜐 𝑡 𝑓′ 𝜈 + ∞−׬
+∞

𝑑𝜐 sin 2𝜋 𝜐 𝑡 𝑓′′ 𝜈
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λ

λ = 𝑐. 𝑇 λ =
𝑐
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𝜆 = 𝑐 𝑇 =
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